2 UNIT

Cb) And +the value of = if:

. -]
Sin X

Ci) cos 25°

{

cosec (x+30)

i

cii) sec 20°

ce) Fll in the table below :

Ci) (4o 1 dp)

Cii) (to the nearest minubre)

(with exack values) 4 ‘
enel | 0° | 30| 45°| 60°| 90" iy
sin o°| % ‘gé !
21 (2
cosS z NE) v o}
cot o ! \‘('5‘3— | ©

QUESTION 2 : (20 marks )

¢ Find +he exact value of :
sin. 225°

ci)
(i) +4an 800°
Ciii) cot 570°
(iv) cos (-t20%

{v) sec C~315°)

Cd) TF x =30°, y=45°
find the exact value of

Ci) sin 2x
Gi) 2sing cos y

2 2
Gii) sec” x = faa" x

Cv) J1- cos"j

{ crane carrying

NAME MAY TEST NO. 4
GUESTION | CiOmarks) (b) Solve the uations for QuEesTioN 3 : (1O marks )
. , x if O£ % £ 360° X )
Ca) In +he given triangic, (i) Ca) Stare +he Sine Ruie
evaluale A ') Sirne ¢ = J_;z,g 1%?‘ Oﬂj A ABC
c) lengfl‘t AcC
s
(b) ABCD is a parallelogram
3 * - ° -
iy tan x = -3 in which LBAD = 40, AD:37em
B'! > ' and AC =65, Draw a neal skekch
4+ and find L ACD (+o neacesr degree)
A
Cii) tan A =
A .
Ciiiy) s€c C = ¢e) Rind the value of % ;

Cii) In the diagram. P&R is «
a load a+ $.

Caladdare £ QPR and the height
of S akove e ground. R

e
a 14'401.
cf'
20m| ™
r
P

s
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MAY TEST NO. 4 { /UU/C) ?gw/%’v‘//"{, 2 uNIT

QUESTION 1 CtOmarks)

Ca) I +he giver trianglc, x if 04 x £ 360°
evajuake A C) sinx = Y2
i) lengfh AC 2
6O% IQO/
Ao B2 2 )
AC =5%+4 / 5 Y \/
pe = AN Y
Lo L Cii) tan x = =3
8 4. c o Y
120°, 300
n 4 >/

JCb) FAind +he value of x if:

cos 25° = sin x°
X% &5° /

ci

Gi) sec 20° = cosec (x+.=3o)°
% T 40°/

Ce) F'” in the table befow;

(with exact values)

PEG © o °
RAT] 0° | 30 | 45°| 60°| 90
‘&l el L Y=v VB

8sin (o] 2 T3 7 L
IRE] L

. coS 1/ Z 5 1.V o
! P []

cot | [43/] 14 3| ©

QUESTION 2 : (20 marks)

(a) Find +he exacr value of :
Ci) sin 225°
!
-z /

(i) 4an 800°

-3/ 2 Lo LT
Ciii)> t §7 ° =
ii) cot 570 2 >
: - Gii) sec” x - tan
=Y 3-%0 3
) 3 37 3
Gv) cos (~120°) (v) 1= cos"‘j
- ’
/12
&) sec (-315°) m>
IZ_ / : - i
- 7,
<t
"f/ \./
53

(b) Solve the eciugﬁ ns for

(c) Fnd the value of =

(i) (o 1 dp)

den=0® = xS
. QB,G 2
X = 23.6 tan 5/
50
236 em

Cii) (1o the nearest minure)

/ .

Cog x° = 4
ﬁs
x°: 33°39/

Cd) If x = 30°, = 45°
nd the exack vaiue of

1%, /

Ci) sin 2%

Ch) 2 sin gcosy

4

x

(23

-
-

/
y

2
a
b &
l

‘QuEsTioN 3 : (10 marks )

(i) (a) Stare +he Sine Rule

for any A ABC .
T R - /
SinA Sn B SindC

(b) ABCD is a porallel ogram

in which LBAD = 40°, AD:37cm
and AC =65, Draw a neat skelch
and find L ACD (to nearest degree)

3% Si~ 140
05

SO F

-/

[

/.ACQf'-Zl/

Cii) In the d[hsm PRR is a
crane cany"ng a load atr s,
Caladate £ QPR and +he height
of 5 above +he ground,

' R

16
6—' 14‘4-4"1.
¢ S
20m] "c’v ! £
6 '
-
T

ket L&PR = & I

162 2074322 -2 .20.32.Ca8)
25 =400+ 1029 — tzeocos/a
+1168 . Cos &/
+|280

& F24°9’ /

CULRPT = 65° 5]/

[f L
RT :_5___2;_, fr,u.’;’j}‘e/
RT7= 32 6‘;n65°?_\£_
v
RT = 20,2 wm)/ .
RT-RS= aT /C‘

AT 4.8 m v




